Class 5 mensures the height of a sunflower
over seven weeks. Here is the table of data that
shows their results:

Week 1 2 3 & 5 6 7

Height

52 | 59 | 66 | 72 | 78 | 88 | 93
(cm)

1) Draw a line graph to represent the data.
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Week 1 2 3 4 5 6

Sunflower
1 - Height | 52 57 69 i3 81 90
(cm)

Sunflower
2 - Height | 50 54 &0 65 75 80
(cm)

Rami draws a graph of the data. However, he has made
10 mistakes.

Key: ===== Sunflower 1 =++=+++ Sunflower 2
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Use the clues to finish drawing the graph.

»sems = Daisy's Sunflower

= =& == Marlon's Sunflower
—#—— Rami's Sunflower
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In week 1, Marlon's sunflower was 2cm shorter
than Daisy's sunflower.

In week 2, there was a 6cm height difference
between Marlon's and Rami’s sunflowers. Rami's
sunflower was taller than Marlon’s.

In week 3, Daisy’s sunflower was taller than
Marlon's but shorter than Rami's. Its height was
an odd number of cm.

By week &, Daisy's sunflower had grown 18cm
since week 1. However, it was still 1cm shorter
than Marlon’s sunflower.

In week 5, Rami's sunflower was lem
taller than Marlon's.

In week 6, Daisy’s sunflower was 1cm
taller than Rami's.

By week 7, Rami's sunflower was the tallest,
towering 5cm over Marlon's sunflower and 2em
over Daisy's.

By the end of the investigation, Rami's sunflower
had grown the tallest. It had grown 40em from
its starting height.



ANSWERS

1) A line graph to show the growth of elass 5's and elass 8's sunflowers

100 Key:
i ¢ —a— Class 6 Sunflower
] 1 = & = Class 5 Sunflower
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a5 r" 2) A key [legend.
" e
e — Check that plots are plotted correctly on the line graph,
'l?m id’ and the sets of data are labelled using a keyflegend.
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2) Answers will vary. Look for understanding that Ram/ should
be more careful when labelling the numbers on the axes end
writing keys and labels. He should check that he has plotted
the numbers on the groph at the correct points,

Key:
€3 = = Helght of Sunflower |
(3 Height of sunflower 2

= Rami has mixed up the labels in the key. The dashed
line should be labelled ‘Height of Sunflower 2,

» The dotted line in the key should be labelled ‘Height of
Sunflower I,

= He has mislabelled the numbers on the x-axis. it
should say 5,6, 7.

= He has mislabelled the numbers on the y-axis. it
should say %0, 100, 110,

« The label on the y-axis should say height Cem), not
height Cm).

« In Week 2, the height of sunflower | should be plotted
at 57em, but he has plotted it at s8cm.

« In Week 4, the height of sunflower | should be plotted
at 73em, but he has plotted it at 72em.

« In Week s, the height of sunflower | should be plotted
at flem, but he has plotted it at 80em.

« In Week 5, the helght of sunflower 2 should be plotted
at 75em, but he has plotted it at 74em.

« In Week 6, the height of sunflower 2 should be plotted
at 80cm, but he has plotted it at 70em.
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Week Daisy's Marlon's Rami's
Sunflower Sunflower Sunflower
1 33 3 35
2 LD 36 q2
3 4s A 47
4 5 52 55
5 60 58 59
& bé 63 -39
T T &7 73
8 73 70 15




